Turner PRO

cetac

Spa re part list - som serias numeer 5109

41-154 RevC 2019-10-15

Pos

©ooNoOEWN P

=
o

Title ltem no
Floor plate with KNobS .......ccceceverenriiricriene 28055
Low friction diSC...uiueeeeiriireieeieece e 51111
Antiskid KNOD ..ceeeeecrececeee e 51112
BUSNING .t 82972
Insex bolt M 8x25 DIN 7991 Fzn.....ccocevvuvennee. 11679
Unbrako M 8x20 KBSF FzNn ......cccoveerecereerennn. 11680
Lock nut M 8 fzb DIN 985-6.......cccceevevveerrennne. 12011
Bolt elzn DIN 660 steel 8x48 Fzn........cceuvenenee. 14040
StarloCK @8......ccvveveeeeieereceeeeeseeee s 13046
WRNEEI et 82973

Pos

12.
13.
14.
15.
16.
17.
18.
19.

Title Item no
Lower leg support (complete) ....cvevrrveccrennen 28048
Handle M8........oorrcceerersr s 83028
Handle M0 ... 82971
Snap 10CKING SPIiNG....coveveceerereirirererererens 82970
INNEF POIE ..t 83155
Oval PIPE PIUB..erererrrrrrrririrererin e 51150
Height [abel......covvreeceerrrr e 71365
USEr [aDel ..ot 71366



Pos

©ooN WD P

Turner PRO

cetac

Reservdelslista - 7, sevenummer 5109

Benamning ESV Art nr
Bottenplatta med Knoppar.......cccceeeevrererenens 28055
FriKtiONSDIICKA wvvvveeveeeeerecreceeee e 51111
JaY QL7 = 1T0 L gTo] o o I 51112
BUSSNING...viiieiiiiriiceere e 82972
Skruv M 8x25 DIN 7991 FzN ....ccvvvevrecricirennns 11679
Skruv M 8x20 KBSF FzN....ccrvvreeririreireceriennens 11680
Lasmutter M 8 fzb DIN 9856 ........ccoeveeuerenne. 12011
Nit DIN 660 steel 8x48 Fzn ......ccevvvrecvrcerrenne. 14040
Lasbricka starlock D8 fzh.......cceeeeeererrecenrennen. 13046
HJUD o 82973

Pos

12.
13.
14.
15.
16.
17.
18.
19.

Benamning ESV Art nr
Underbenstdd Kompl.......ccovverenereenererenens 28048
Ratt M8x30 benstid .......ccceererrrverererererenes 83028
RAt M0 .o 82971
Fjader SNAPPIASNING.....cvcveeerreerrereecrreerennas 82970
AT aLTE] = = TP 83155
ANAAVSIULNING .....ooorevererereeeseeene v eseseessenenes 51150
EtiKett NOJA v 71365
Etikett brukarinfo......ooceeecervvneeseseresesesisenens 71366



